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Developing activity
Lesson 1
LO: TBAT identify sequences and patterns.
Success Criteria:
	1. Identify the numbers in the sequence.

	2. Count on from each number to identify the pattern.

	3. Be aware that some patterns may increase or decrease by different amounts.



ModelNow you try…
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Year 6 Maths   
Expected/ Greater depth activity
Lesson 1
LO: TBAT solve problems including number patterns and sequences.
Task:

You are going apply your knowledge to solve several problems including number patterns and sequences.
Success Criteria:
	1. Identify the numbers in the sequence.

	2. Count on from each number to identify the pattern.

	3. Be aware that some patterns may increase or decrease by different amounts.

	4. Explain your answer using examples from the sequence.


Recap:
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Year 6 Maths
Main activity
Complete at least 2 columns, more if you can!
	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Complete the number sequences.

1. 20, 31, 42, __ , __ , __ , __ . 
2. 26, 23, 20, __ , __ , __ , __ .
3. 11, 17, 23, __ , __ , __ , __ .
4. -16, -9, -2, __ , __ , __ , __ .
5. 133, 130, 127, __ , __ , __ .
6. -25, -20, -15, __ , __ , __ , __ .
	Arithmetic
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	Problem Solving
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	 Reasoning
[image: ]
[image: ]



image4.jpeg
- —
F’\\A\E\?\) ‘D‘J Z' asd tren o33,

Heke e I'l\\$$“‘5 qurrbes
PN s

G

. Read Khe UMb
2 Follow the cule.
e e
4. T work oWk the ?tsl: numw psinast ue
the inverse.

'L+3 - :1 =3
S22 =\





image5.jpeg
M
w0y |

Wiike the SWC £wo
in this gque:\é
(NN

lof;\;‘\‘f‘\'a
-0
xe " l""z
lﬂmA&\eﬁmhons
al

2. Work ouk Hre inkervals:
3 Al the mssmj frockions .





image6.png
495 +1=

345+10=

82x1=
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36x0=

5813
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Q1.

In this sequence, the rule to get the next number is

Multiply by 2, and then add 3

Wite the missing

[ 1]

numbers.

25

53
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Q2.

The numbers in this sequence increase by the same amount each time.

Write the missing numbers.

ol
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Q3.

The numbers in this sequence decrease by the same amount each time.

303,604 302,604 301,604 300,604

What s the next number in the sequence?
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Here s pat of & number sequence

The numibers in he sequenos increase by 25 esch tme.

50 75 100 125

irle il of the numbers below that wil sppear i the sequence.

255 650 735 900

995
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Q5.

“The st below shows the years in whichthe Cricket Warld Cup was heid since 1992:
1992, 1960, 1999, 2003, 2007, 2011, 2015

Adam saye,

The Crickst Werld Cup.
has bon held ovey four
yoars since 1992.

Adam s not sorect

Expisin how you know
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Rule: Double umber, add 13.
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Creats, discover and succeed together




